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2A: S22
M. SI=rE(RYHL/23H0=)
Ciol: BERS LB 54 (el &2
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
=32t 1t 9,280,015 6,832,204 2,397,811
= 399,250
J| 267,190
< 536,061
Al 8,077,514
SolisrE(2sY 2/ 25H0=) 4,602,870 4,072,834 530,036
J| 267,190
o= 234,617
Al 4,101,063
SIERS Y= ' 106,534 165,828 N59,294
J| 2,000
o= 25,257
Al 79,277
KHAS A DIESHAL X (BHAERIH) 14,176 13,310 866
J| 2,000
o= 257
Al 11,919
307 212to|™ 14,176 13,310 866
J| 2,000
& 257
Al 11,919
04 CIZISHALAIE 2R 14,176 13,310 866
J| 2,000
& 257
Al 11,919
=0 A 14,176 13,310 866
J| 2,000
o= 257
Al 11,919
OXAR A DISSHAL X|RA(BHIERAH) 2,857
J| 2,000
o= 257
Al 600
OXHAS A DIZSHAL X2 (BHAE2ARI)(
KEAI) 11,319
FRHMAA X (HS2L2AT) 11,206 10,578 628
307 2I2to|™ 11,206 10,578 628
04 CIZISHALAIE E R 11,206 10,578 628
S0 A 11,206 10,578 628
OMI213 HSHL3H 11,206
FRHAISA X2 (EHEHA & AI) 75,872 60,000 15,872
& 25,000
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& 25,000
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04 OIZISHALAIE 2 X 75,872 60,000 15,872
= 25,000
Al 50,872
20 & 75,872 60,000 15,872
& 25,000
Al 50,872
OEHEH A JTI 50,000
& 25,000
Al 25,000
OB A & HI(REA) 25,872
EHEX CI=0=E 2Z XA 5,280 3,530 1,750
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OZ240| L ALAIHO| Hs & 5,280
Zatlil=as 43t X2 4,496,336 3,907,006 589,330
J| 265,190
& 209,360
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OLdHASE AIER 1= 2,000
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S0 &t 4,224 3,888 336
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